INSTRUCTIONS ADJUSTABLE-ANTI-PILFERAGE GUARD INSTALLATION, FOR NATIONAL
VENDORS CROWN SEVENTY TWO®, SERIES EPM-72, AND GOLDEN FURNITURE LINE EPM-72,
ELECTRIC PASTRY MERCHANDISERS

This Adjustable Anti-Pilferage Guard Kit, part number
139-6039 may be installed in any National Vendors, Crown
Seventy Two®, Series EPM-72 and Golden Furniture Line
EPM-72, Electric Pastry Merchandisers. This Kit consists of
the following parts:

Part Number Description Quantity
139-6047 Guard Assembly, Adjustable

Anti-Pilferage 1
9900-187 Screw, No. 8-32 x 3/8”

RHS Self-Tapping 4
139-6040 Instructions, Installation 1

* * *

Carefully and thoroughly read these instructions before:
doing the actual work of installing the Kit, and follow the’
procedures in the order given.

[ Installation and Adjustment of the Anti-Pilferage
Guard.

A. TO INSTALL THE ANTI-PILFERAGE GUARD:

1. Disconnect the Merchandiser Service Cord
from wall receptacle.

2. Open the Cabinet Door and rotate Delivery
Mechanism out to expose the Right Sidewall.

3. Remove Reset Motor Cover by removing three
No.8-32 screws.

4. If the Merchandiser contains a Non-Adjustable
Anti-Pilferage Guard, remove it.

NOTE

There are numerous screws through each Sidewall adjacent
fo those holding the Anti-Pilferage Guard. Observe carefully
to determine the proper screws to be removed.

5. Before installing the Adjustable Anti-Pilferage
Guard, determine if the Adjustable portion of
the Guard is set in its approximate mid
position. If not loosen, with a wrench, the five
No.8-32 nuts with lockwashers across the
bottom rear portion of the Guard and set the
Guard to its mid position. Tighten the nuts
being careful to keep the bottom edge of the

Guard parallel to the top edge of the Guard
Channel

6. Slide the Anti-Pilferage Guard up into the
Delivery Pan. See Figure for orientation of the
Guard.

7. Hold Anti-Pilferage Guard in position and
install two of the self-tapping screws
furnished, in the two vacant holes adjacent to
the Reset Motor in the Right Sidewall, so that
the top one extends into the upper formed
portion of the Guard and the bottom screw
threads into the hole in the Angle Bracket of
the Anti-Pilferage Guard.

8. Rotate the Delivery Mechanism completely
out of the Cabinet. Grasp the Guard and hold
it level.

9. Install two self-tapping screws in the available
holes in the Left Sidewall.

10. Rotate Delivery Mechanism back into
Cabinet.

B. TO ADJUST THE ANTI-PILFERAGE GUARD:

1. Place the product having the maximum height
in the Delivery pan in the position it would
be in if it had been delivered.

2. Slide the product up and wunder the

' Arti-Pilferage Guard. If the product slides up
without interference note the amount by
which it clears the Guard. If the amount of
clearance is about 1/8 inch procede to step
B-7. If the product will not slide up due to
interference or if the clearance is more than
1/8 inches note the amount of interference or
clearance.

3. Rotate the Delivery Mechanism out of the
Cabinet.

4. Remove the Anti-Pilferage Guard from the
Merchandiser by removing the four No.8-32
self-tapping screws installed in steps A-7 and
A-9. Carefully move the Guard forward out of
the Delivery Pan.

NOTE

There are numerous screws through each Sidewall
adjacent to those holding the Anti-Pilferage Guard;
Observe carefully to determine the proper screws
to be removed.

Printed in U.S.A.

JGA Copyright © 1973 by National Vendors

139-6040
Rev, A

A Division of UMC iIndustries



5. Loosen, with a wrench, the five No.8-32 nuts
with lockwashers across the rear bottom of
the Anti-Pilferage Guard. Adjust the lower
portion of the Anti-Pilferage Guard to allow
about 1/8 inch of clearance between the
bottom surface of the Anti-Pilferage Guard
Assembly and the top of the thickest product
to be vended. Be sure to adjust the Guard so
that its bottom will be parallel to surface of
the Delivery Tray and tighten the five nuts.

. Install the Anti-Pilferage Guard, using the four
No.8-32 screws removed in Step B-4.

. Install the Reset Motor Cover using three
No.8-32 screws removed in Step A-3.

. Rotate the Delivery Mechanism back into the
Cabinet.

10.

1.

12.

Close and lock the Door.

Connect the Merchandiser Service Cord to a
wall receptacle.

Check to determine if the Anti-Pilferage
Guard has been set to provide adequate
clearance by test vending at least five of the
items from the Column having the thickest
product.

If the Anti-Pilferage Guard is not set correctly
repeat Steps B-1 through B-11. If' the
Anti-Pilferage Guard is set correctly place the
Merchandiser in service.

SIDEWALL

LOOSEN
NUTS

ADJUSTABLE
ADJUSTABLE ANTHPILFERAGE
ANTI-PILFERAGE GUARD
GUARD ASSEMBLY
139-6047

LEFT

N

5 CARRIAGE BOLTS

DELIVERY
PAN

/3 G- ‘—3$/6“



